[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

1.0

L LR AN LS LA LARRN LR LR R LR RARLN LRRRNRRLR

iy
T
4

- - o EEE S X L - XEED -

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_TT__original

Efficiend —— DQM_TT_initOnlyFWD0_PU
ICleNd __,__ DQM_TT_ initOnlyFWDO_PU

N 0.2
L S S
[d _ . . . . .
L S L R S
> : : : :

2 E : : : :

Jo e S S A T
S F : : : :
E0.12F et {
() . . . .

SR S
O e R

A

oo | +:é’#ﬁ'm;;;;::::i::::::'_‘;+:+_::_+:+_§_::::::

o
T T T
%

+
.

i
+

=30 -20 -10 0 10 20 30
TP vert z (cm)

E *
QLUG:""I" .
= L o
S t :
o t :

1 IR 0 1 | I 4 1

i

095515 =10 5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


